

**Exercise 1**

Calculate the following subtractions :

$92 - 1 =$

$36 - 2 =$

$53 - 2 =$

$67 - 5 =$

$7 - 1 =$

$97 - 4 =$

$59 - 6 =$

$59 - 7 =$

$89 - 4 =$

$23 - 1 =$

$36 - 1 =$

$35 - 3 =$

**Exercise 2**

Calculate the following subtractions :

$23 - 3 =$

$98 - 3 =$

$77 - 2 =$

$55 - 2 =$

$6 - 6 =$

$48 - 7 =$

$46 - 6 =$

$64 - 2 =$

$35 - 3 =$

$7 - 5 =$

$79 - 3 =$

$63 - 3 =$

**Exercise 3**

Calculate the following subtractions :

$69 - 3 =$

$66 - 6 =$

$74 - 4 =$

$68 - 1 =$

$19 - 8 =$

$8 - 4 =$

$7 - 5 =$

$16 - 4 =$

$38 - 1 =$

$54 - 2 =$

$78 - 4 =$

$95 - 5 =$

**Exercise 4**

Calculate the following subtractions :

$38 - 6 =$

$35 - 2 =$

$61 - 1 =$

$97 - 6 =$

$97 - 2 =$

$78 - 3 =$

$8 - 1 =$

$16 - 6 =$

$95 - 1 =$

$48 - 4 =$

$55 - 4 =$

$88 - 2 =$